
X

1

3
2

3
2

6

8

9

4

4

3

3

16

17

7

10

6
11

13

12

14
15

5 5

6
21

13

25

23

24

22

20

22

19

12

13
18

27

Y

26

DS 3 B 7-03.00

DS 3 
Steam-suction nozzle



DS 3
Steam-suction nozzle

Pos. Description Reference

01 Extension tube 028.801

02 screw DIN 6912 M4 x 10 P...489D

03 Half of steam hose clamp 028.520

04 nut DIN 985 M4 P...493D

05 Nut M4 P...495R

06 Washer M 5x2 mm P...497V

07 Fixing plate 028.623

08 Rubber attachement 028.622

09 Large distance piece 028.635

10 Small distance piece 028.624

11 Pan Head screw M 4x30 mm P...475W

12 Rubber protection 028.680

13 Hose clamp 13,3 mm P...550I

14 Male connector complete 028.670

15 O-ring 5,28x1,78 mm P...962A

16 Suction part of floor tool complete 028.610

17 Pair of rubber blades 646.110

18 Coupling for hose complete 028.510

19 Steam hose dm 5x10x100 mm 028.639

20 Cover of steam element 028.621

21 Pan Head screw M 4x20 mm P...475F

22 PT screw KA 25x8 mm P...516Y

23 Body of steam element 028.616

24 Tightness cord dm 4x580 mm 028.633

25 Large attachment with bristles 028.630

26 Threaded nipple SW 8x28 mm 028.662

27 Floor tool complete 028.600




